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Solutions 
 
S1. Ans.(d) 

Sol. The public is ready to invest in these banks because of the knowledge that these banks get strong 
support from the Government.(Refer last two sentences of para 1) 
 
S2. Ans.(c) 
Sol. something that has a sudden and positive effect on something, providing encouragement and 
new activity. Hence Option C.  
 
S3. Ans.(e) 

Sol. Refer to these lines. "While others are on a cost cutting spree and firing employees, Indian 
Companies are actually working on boosting staffing in banking and broking sectors. ". Here author 
talks about the benefits of recession only on the banking sector in India. 
 
S4. Ans.(c) 

Sol. Increased hiring in Indian financial sector in times of economic slowdown ( Refer para 2) 
 
S5. Ans.(b) 

Sol. (A) is not true because the passage says that “the pace of growth is a little slow now.” (B) is true 
from the very first sentence of the passage. (C) is false as the recession still has its impact in the 
passage. 
 
S6. Ans.(a) 

Sol. Only (A) and (B) 
In the first paragraph, the author highlights that the sector is recording a positive growth. Hence 
option A is correct.  
 
S7. Ans.(e) 

Sol. Turmoil-a state of great disturbance, confusion, or uncertainty. 
 
S8. Ans.(e) 
Sol. PULVERIZATION-crushing 
 
S9. Ans.(b) 

Sol. Thrive means" to succeed or to flourish". Opposite is deteriorate 
 
S10. Ans.(a) 
Sol. Mundane means routine stuff. Its opposite is extraordinary 
 
S11. Ans.(A) 

Sol. BEACD is the correct sequence of the passage 
 
S12. Ans.(C) 

Sol. D is the concluding statement . BEACD is the correct sequence 
of the passage 
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S13. Ans.(B) 

Sol. Statement is the first statement as it introduces the idea. It talks about investment opportunities.  
 
S14. Ans.(e) 

Sol. Statement C is the fourth statement . BEACD is the correct sequence of the passage 
 
S15. Ans.(a) 

Sol. Statement E is the second sentence which gives paragraph formation a coherent meaning. It 

further explains investors. BEACD is the correct sequence of the passage 

 

S16. Ans.(d) 

Sol. Option D is the correct choice. reconstructed -form an impression, model, or re-enactment of (a 

past event or thing) from the available evidence. 

 

S17. Ans.(b) 

Sol. Option B is the correct choice. 

 

S18. Ans.(c) 

Sol. Option C is the correct choice. 

 

S19. Ans.(d) 

Sol. "present" is the right answer. Inspire the existing generation to inspire harmony at a later time. 

Hence Option D is the correct choice. 

 

S20. Ans.(a) 

Sol. "kind", is the correct choice. Different kind refers to- a group with similar characteristics, or a 

particular type 

 

S21. Ans.(d) 

Sol. encountered-unexpectedly be faced with or experience  

confronted-face up to and deal with (a problem or difficulty). 

Option D is the correct option because a word with negative connotation is required here. Riddle 

means something or someone difficult to understand, puzzling question 

 

S22. Ans.(c) 

Sol. nurtured-care for and protect (someone or something) while they are growing. Option C is the 

correct choice. 

 

S23. Ans.(a) 

Sol. Option A is the correct choice. Effective and fulfilling life is achieved. Exert means to apply. 

Hence both words gives a coherent meaning to the statement . 
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S24. Ans.(a) 

Sol. Option A is the correct choice. A theory is critically evaluated. Other option are incorrect 

'pertain-be appropriate, related, or applicable to.' 

 

S25. Ans.(e) 

Sol. Option E gives the grammatically correct meaning. Hence , is the answer. 

 

S26. Ans.(C) 
Sol. Statement C is the correct choice and gives most coherent meaning to the paragraph.  
Statement A and B are grammatically incorrect . 
Statement D and E are out of context.  
"However, within the parameters of law, it has never been confined to human beings and has even 
included idols and companies", gives coherent meaning. 
 
S27. Ans.(b) 
Sol. Statement B is the correct choice.  
but questions regarding the legal standing or legal personality of non-human persons remain 
unanswered 
 
S28. Ans.(d) 
Sol. Statement D is the correct choice, which gives coherent meaning.  
While tax administration has seen some paradigm shifts both in the domain of direct and indirect 
taxes, 
 
S29. Ans.(b) 
Sol. Statement B is the correct choice, which gives coherent meaning. 
Simply put, it is a digital public ledger that records every transaction. Once a transaction is entered in 
the block chain, it cannot be erased or modified. 
 
S30. Ans.(c) 
Sol. In the light of such economic aspirations, a fair balance between taxpayer rights and obligations 
will only ensure a higher degree of trust between the tax collector and taxpayer 
 
S31. Ans.(d) 
Sol. keep at it-to continue doing or trying to do something 
Keep around- Keep something near you 
Keep back -Maintain a safe distance 
Keep down- to stay close to the ground or floor 
Keep from- Control yourself, refrain 
 
S32. Ans.(d) 
Sol. Act out- to demonstrate or illustrate by pantomime or by words and gestures 
Act  upon- have and exert influence or effect 
Act on- to act in accordance with; follow 
Act up-Behave badly or strangely  
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S33. Ans.(a) 
Sol. look ahead- to think about what will happen in the future 
Look after- Take care 
look at- to think about or consider (something or someone) 
look back- to think about something in the past 
look into -to try to get information about (something) 
 
S34. Ans.(b) 
Sol. stand down - to leave the witness stand in a court of law 
stand in -to take the place of (someone who is away for a time) 
stand out -to be easily seen or noticed 
stand aside-to take a few steps backwards 
stand behind- to support (someone or something) 
stand alone- to be in a position or situation in which you are not 
helped or supported by others 
 
S35. Ans.(c) 
Sol. work over- to hurt (someone) by hitting, kicking, etc 
work off- to pay (a debt) by working 
work on -to be in the process of making (something), doing 
(something), etc. 
work up-to make (someone) feel very angry, excited, upset, etc. 
 
S36. Ans.(a) 
Sol. if there is an error only in the first sentence. Correct sentence -I drive more quickly than my 
brother. 
 
S37. Ans.(b) 
Sol. if there is an error only in the second sentence. 
Correct sentence -Please give me an ice cube. 
 
S38. Ans.(c) 
Sol. if there are errors in both sentences 
The article is omitted before nouns that refer to abstract ideas-Creativity is a valuable quality in 
children. 
Many languages and nationalities are not preceded by an article. -I studied French in high school for 
four years. 
 
S39. Ans.(d) 
Sol. if there is no error in either of the sentences. 
 
S40. Ans.(a) 
Sol. Teachers is not a profession; teaching is the original sentence clearly intended teaching, as a 
profession, to be the subject, and the predicate was intended to show that teaching does indeed 
require a lot of patience. 
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